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Special credit will be given for precise and correct answer. Marks will
be deducted for spelling mistakes, untidiness and illegible handwriting.

The figures in the margin indicate full marks.

1. IE R &AeE Ted e | 18 x 2 = 36

Answer any two of the following :

a)

b)

d)

G MG RS SO et |

Discuss the evolution of the discipline of Public Administration.
AfoFRIE Srga NIRRT &PTE (R AIFR - S ST 6 |
Discuss the contribution of Mary Parker Follett in the context of
her opposition to the classical theorists.

THA 2T P B1.af&r. (CAG) -1 el SIeETbel 26 |

What was the role of the CAG in the evolution of the concept of
Development Administration ?
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How does the Human Capital Theory and Socio-psychological
Theory explain the unequal representation of men and women in
Public Administration ?

2. @A-E FonTb o Teg e | 12 x 3 =236

Answer any three of the following :

a)

8% @7 fEf1-7 2038 AEH alforwm SRR fors s eeroefr F 2

According to the UNDP's report (2014) what were the trends
relating to the issue of gender ?
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b)  CREIST AT IS QA FrolE o sEfeEr 2
How did Hegel change the meaning of Civil Society ?
c) RIIEE AN TG G Blpl o1 |
Write a note on 'Reinventing Government'.
d) RS AR FT TAMT 2
What are the key elements of Citizens' Charter ?
e) NEI WO FXSHPIER e w@io F @RI 2 @9 @6 2@eH o
SO P |
What, according to Laski, is meant by 'a training in self-
government' ? Discuss why is it necessary.
f)  Seey AET -G eFIRS (R LT NS S B |
Discuss the two types of society suggested by Fred Riggs in 1956.
3. CACIIET oIl 2ees Ted ey | 7x4 =28

Answer any four questions.

a)

b)

c)

d)

g)

h)

RN Prals 96 TOER T Ghio Bipl o1 |

Write a note on Simon's Decision Making model.
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Discuss the Behavioural Approach to management.
OO FEACHFA SRS OGS T A Bipl o7 |

Write a note on Barnard's Acceptance Theory of Authority.

e SgNifon Toiw @it Bl o1y |

Write a note on constitutional economics.

G Olfgpele SIS AEET TLOIE IR PECRA 2

How have the Public Choice theorists explained 'market failure' ?
T ST @ 2

What are the shortcomings of New Public Management ?

G NN BRI 2 o@we (2000) -7 AL FEH ) e 2

What was the main observation of the National Human
Development Report (2000) ?

'SMART' *IP G e |
Explain 'SMART' governance.
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